[image: image1.jpg]


[image: image2.jpg]


[image: image3.emf]


1)







 Area = …………………………..










    = …………………………..

[image: image4.emf]


2)







 Area = …………………………..










    = …………………………..

[image: image5.emf]


3)







 Area = …………………………..

[image: image6.emf]135°




135°










    = …………………………..



If the area of the top of a circular table is 1200 cm2 
Find the radius of the table

The distance around a circular pond is 63m  
What is the diameter of the pond?

The area of this shape is 24 cm2
Find the perimeter of the shape  
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20˚

























































































































































































Circles: Area Extension





Finding radius











20 cm
























































60˚





3.4 m








